3
fin

Fiah X No. 1
I & - 3 =X B | B =
<tI>
A 12.8 12.8 13
iR BHO0.28m3 m3
24.0 24.0 24
BR1 INRAE m3
8.0 8.0 8
HR2 INRAE m3
24.0+8.0-12.8=19.2 19.2 19
BR# W+t m3
12.8 12.8 13
T RS E 4t L=0.2kmLLF m3
52.8 52.8 53
EEER m2
<E\EEHI>
18-8-40BB 194.4%x0.1=19.4 19.4 19
EiTHa 9 )—k m3
<{REET>
BE-RE 30 3 3
ARTDS5T AL ®
HWE 30 3 3
ARTDS5T ®
=E:? 1.0 1 1
BEKR TS EE  [100mm &
INOFE 100mm 1.0 1 1 EER A
BEkARy 78 EEHEK & |168
RE-BE 3.048%1.524%102=473.8 473.8 474
BERIRER B ET (102%0.802=81.8t) m2
22x3048%1524 102.0 102.0 102 E=IEE
Btk & 802kg/#& % 248
<3EBEBET>
1.0 1.0 1
XEEET RBFEZEEB = 14N




0 = 5 g g
_ _ No.1
PR 1E HERT HER2
p: [ XMEEH | m B | F®H | 1 B | @mBE|FH| I B B|E®H| I B
m i m m i
0.0 0.3 0.2
0+ 0.0 0.00
0.0 0.00 0.0 0.3 0.30 12.0 0.1 0.15 6.0
+ 40.00 40.00
0.1 0.05 2.0 0.3 0.30 12.0 0.0 0.05 2.0
+ 80.00 40.00
0.1 0.0 0.0
+ 80.00 0.00
0.2 0.15 6.0 0.0 0.00 0.0 0.0 0.00 0.0
1+ 20.00 40.00
0.2 0.20 48 0.0 0.00 0.0 0.0 0.00 0.0
1+ 4400 24.00
12.8 24.0 8.0
&5t 144.00




o = 5 g g
No.2
EI b7 —F i3
A o= XMHEEH | € & | F B3 m & Z2E | FH m i
£ E E R
151 0.66
0+ 000 0.00
1.51 1.51 60.4 0.66 0.66 26.4
+ 40.00 40.00
1.51 1.51 60.4 0.66 0.66 26.4
+ 80.00 40.00
1.51 0.00 0.0
+ 80.00 0.00
1.51 1.51 60.4 0.00 0.00 0.0
1+ 20.00 40.00
1.51 1.51 36.2 0.00 0.00 0.0
1+ 44.00 24.00
T —LER AR
(144/1.5-1)
1.51%0.16%95 (23.0)
194.4 52.8
&5t 144.00




